<u>DEPARTMENT 47 – FLORICULTURE</u> Superintendents: Constance Eder (734)635-7550

- 1. Please read general rules and regulations beginning on page 13.
- 2. Exhibits are to be entered on Sunday prior to Fair, between 9:00 a.m. and 5:00 p.m.
- 3. Judging will occur on Sunday evening after all entries have been entered.
- 4. No one will be allowed in the department during judging.
- 5. Exhibitors are responsible for maintenance of their exhibits.
- 6. Previously shown plants, with new growth, may be exhibited.
- 7. Not responsible for broken or damaged vases or containers.
- 8. ALL EXHIBITS must remain on display until 9:00 a.m. on Sunday following Fair.

Please pick up exhibits between 9:00 a.m. and 11:00 a.m. on Sunday following Fair.

POTTED PLANTS - ADULTS (18 and over)

<u>Item No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>	
47001	African Violets	\$4.00	\$3.00	\$2.00	\$1.00	
47002	Tropical Plants	\$4.00	\$3.00	\$2.00	\$1.00	
47003	Hanging Baskets	\$4.00	\$3.00	\$2.00	\$1.00	
47004	Philodendrons	\$4.00	\$3.00	\$2.00	\$1.00	
47005	Ferns	\$4.00	\$3.00	\$2.00	\$1.00	
47006	Impatiens	\$4.00	\$3.00	\$2.00	\$1.00	
47007	lvies	\$4.00	\$3.00	\$2.00	\$1.00	
47008	Succulents	\$4.00	\$3.00	\$2.00	\$1.00	
47009	Most Unusual Plant	\$4.00	\$3.00	\$2.00	\$1.00	
47010	Misc. Plants, Green	\$4.00	\$3.00	\$2.00	\$1.00	
47011	Misc. Plants, Blooming	\$4.00	\$3.00	\$2.00	\$1.00	
CACTUS PLANTS - ADULTS (18 and over)						
<u>Item No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>	
47012	Cactus, any variety, 1 per pot	\$4.00	\$3.00	\$2.00	\$1.00	
47013	Cactus, any variety, 3 or more	\$4.00	\$3.00	\$2.00	\$1.00	

DEPARTMENT 47 - FLORICULTURE (con't)

ARTISTIC ARRANGEMENTS - ADULTS (18 and over)

<u>Item No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
47014	Dish Garden, any variety	\$4.00	\$3.00	\$2.00	\$1.00
47015	Terrarium	\$4.00	\$3.00	\$2.00	\$1.00
47016	Dried Arrangement	\$4.00	\$3.00	\$2.00	\$1.00
47017	Fresh Flower Arrangement	\$4.00	\$3.00	\$2.00	\$1.00
47018	Fresh Cut Holiday Arrangement	\$4.00	\$3.00	\$2.00	\$1.00

CUT FLOWERS - ADULTS (18 and over)

<u>Item No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
47019 47020 47021 47022 47023 47024 47025 47026 47027 47028 47029 47030 47031 47032 47033	Roses, 3 or more Chrysanthemums, 3 or more Marigolds - Large, 3 or more Marigolds - Small, 3 or more Zinnias - Large, 3 or more Zinnias - Small, 3 or more Dahlias - Large, 3 or more Dahlias - Small, 3 or more Dahlias - Poms, 3 or more Gladioli, 3 or more Any Other Cut Flowers, 3 or more Misc. Mixed Flowers Bouquet - Miniature Wild Flowers Sunflowers, 3 or more	\$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00

SINGLE SPECIMEN - ADULTS (18 and over)

Item No.	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
47034	Rose	\$4.00	\$3.00	\$2.00	\$1.00
47035	Marigold - Large Marigold - Small	\$4.00	\$3.00	\$2.00	\$1.00
47036	Mariğold - Smăll	\$4.00	\$3.00	\$2.00	\$1.00
47037	Zinnia - Large	\$4.00	\$3.00	\$2.00	\$1.00
47038	Zinnia - Small	\$4.00	\$3.00	\$2.00	\$1.00
47039	Dahlia - Large	\$4.00	\$3.00	\$2.00	\$1.00
47040	Dahlia - Small	\$4.00	\$3.00	\$2.00	\$1.00
47041	Dahlia - Poms	\$4.00	\$3.00	\$2.00	\$1.00
47042	Gladiolus	\$4.00	\$3.00	\$2.00	\$1.00
47043	Any Other Flower	\$4.00	\$3.00	\$2.00	\$1.00
47044	Sunflower	\$4.00	\$3.00	\$2.00	\$1.00

DEPARTMENT 67 - YOUTH (9-17 years) FLORICULTURE

<u>Item No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
67701 67702	Rose - single specimen	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
67703	Marigold - single specimen Zinnia - single specimen	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
67704	Gladioli - single specimen	\$4.00	\$3.00	\$2.00	\$1.00
67705	Any Other Cut Flower -	04.00	# 0.00	00.00	04.00
67706	single specimen	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
67707	Roses, 3 or more Marigolds, 3 or more	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
67708	Zinnias, 3 or more	\$4.00	\$3.00	\$2.00	\$1.00
67709	Gladioli, 3 or more	\$4.00	\$3.00	\$2.00	\$1.00
67710 67711	Any Other Cut Flowers, 3 or more Wild Flowers	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
67712	lvies	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
67713	Philodendrons	\$4.00	\$3.00	\$2.00	\$1.00
67714	Misc. Potted Plant, Green	\$4.00	\$3.00	\$2.00	\$1.00
67715 67716	Misc. Potted Plant, Blooming	\$4.00	\$3.00	\$2.00	\$1.00
67716 67717	Succulents Hanging Basket	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
67718	Dried Arrangement	\$4.00	\$3.00	\$2.00	\$1.00
67719	Fresh Flower Arrangement	\$4.00	\$3.00	\$2.00	\$1.00
67720	Artistic Arrangement, any variety	\$4.00	\$3.00	\$2.00	\$1.00
67721 67722	Most Unusual Plant Cactus, any variety, 3 per pot	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
67723	Sunflower, single	\$4.00	\$3.00	\$2.00	\$1.00
67724	Sunflower, 3 or more	\$4.00	\$3.00	\$2.00	\$1.00
67725	Dish Garden, any variety	\$4.00	\$3.00	\$2.00	\$1.00

DEPARTMENT 67 - CHILDREN (6-8 years) FLORICULTURE

<u>Item No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
67601 67602 67603 67604 67605 67606 67607 67608 67609 67610 67612 67613 67614 67615 67615 67616 67617 67618 67619 67620 67621 67622 67623 67624	Rose - single specimen Marigold- single specimen Zinnia - single specimen Gladioli - single specimen Any Other Cut Flowers- single specimer Roses, 3 or more Marigolds, 3 or more Zinnias, 3 or more Gladioli, 3 or more Any Other Cut Flowers, 3 or more Wild Flowers Ivies Philodendrons Misc. Potted Plant, Green Misc. Potted Plant, Blooming Succulents Hanging Basket Dish Garden, any variety Fresh Flower Arrangement Artistic Arrangement, any variety Most Unusual Plant Cactus, any variety, 3 per pot Sunflower, single Sunflower, 3 or more	\$4.00 \$6.00 \$4.00 \$6.00 \$4.00 \$6.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00

DEPARTMENT 67 - BEGINNER (3-5 years) FLORICULTURE

<u>Item No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
67501 67502 67503 67504 67505	Rose - single specimen Marigold - single specimen Zinnia - single specimen Gladioli - single specimen Any Other Cut Flower -	\$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00
67506 67507 67508 67509 67510 67511 67512 67513 67514	single specimen Wild Flower - single specimen Roses, 3 or more Marigolds, 3 or more Zinnias, 3 or more Gladioli, 3 or more Any Other Cut, 3 or more Wild Flower, 3 or more Sunflower, single Sunflower, 3 or more	\$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00

FLORICULTURE GRAND CHAMPIONS

Item No.	Description:	<u>1st</u>
47045	Grand Champion Plant - Adult	Rosette
47046	Grand Champion Artistic Arrangement - Adult	Rosette
47047	Grand Champion Flower Single - Adult	Rosette
47048	Grand Champion Cut Flowers - Adult	Rosette
67726	Grand Champion Plant - Youth	Rosette
67727	Grand Champion Flower or Flowers - Youth	Rosette
67625	Grand Champion Plant - Children	Rosette
67626	Grand Champion Flower or Flowers - Children	Rosette